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@ Multiplicar por potencias de diez (numero faltante)

Nombre: Fecha: Puntuacion:
10, 726 x = 10726 3,817 x = 3817
8, 867 x = 886.7 9,921 x =992.1
9,303 x =93.03 7,472 x = 74.72
9,932 x =993.2 5,441 x = 544.1
3,743 x =37.43 10, 412 x =1041.2
6,97 x = 697 10, 583 x = 105.83
1,473 % =14.73 9,277 x =92.77
7,447 x = 7447 2,376 x = 2376
8,937 x = 8937 8, 058 x = 80.58
7,873 x = 78.73 8,192 x = 8192

www.snowmath.com


https://www.snowmath.com

® . N
@) Multiplicar por potencias de diez (numero faltante)

Nombre: Fecha: Puntuacion:
10, 726 x 1000 = 10726 3,817 x 1000 = 3817
8,867 x 100 = 886.7 9,921 x 100 = 992.1
9,303 x 10 =93.03 7,472 x 10 =74.72
9,932 x 100 =993.2 5,441 x 100 = 544.1
3,743 x 10 = 37.43 10,412 x 100 = 1041.2
6,97 x 100 = 697 10, 583 x 10 = 105.83
1,473 x 10 = 14.73 9,277 x 10 =92.77
7,447 x 1000 = 7447 2,376 x 1000 = 2376
8,937 x 1000 = 8937 8,058 x 10 = 80.58
7,873 x 10 ="78.73 8, 192 x 1000 = 8192
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